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MATHS ACADEMY
—C\ , /)— UNIT TEST-2022-23
MATHEMATICS
UNIT TEST -1
MARKS: 40 TIME: 1.00 HR
I. CHOOSE THE BEST ANSWER: 8X1=8

1. If|adj(adjA) |4 A|°, then the order of the square matrix A is
(13 (2)4 (3)2
0
0 | is the adjoint of 3x3 matrix A and | A|=4 ,then X is

(1)15 (2)12 (3)14
If ATA™ is symmetric, then A*=

(1) A* @A) (3) AT
{ cosé sind ]

d A(adjA) = s then K=
_sin@ cosq| " W= ] M

(1)0 (2)sin@ (3)cosé
(1 203 4

Therank of thematrix | 2 4 6 8 |is

9 2 IR

(11 (2)2 (3)4
If p(A)=p([AIB]) , then the system AX =B of linear equations is

(1) Consistent and has unique solution (2) consistent

(3) Consistent and has infinitely many solution (4) inconsistent.

IfA=(2 0 1),then therank of AA"is,

(1)1 (2) 2 (4)0
If A'is a square matrix of order n then |adgjA| is

@ [Af @ |A]" ) | Al

II. ANSWER ANY 4 QUESTIONS: 4X2=8

1 -2 3
9. Find the rank of the matrix | -2 4 -6
5 1 -1

Kindly send me your district question papers to our whatsapp number: 7358965593


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

cosd -—sin@

Prove that |
sind cosé@

} is orthogonal

Solve 5x—2y+16 =0, x+3y—7 =0by Cramer’s rule.

2 31
Find the adjointof |3 4 1
3 7 2

1. ANSWER ANY 3 QUESTIONS:

-4 -3 -3
14. Show that the adjointof A= 1 0 1 | isAitself.
4 4 3

-1 2
15. If Az[l 4]verifythe result  A(adj A)=(adj A)A=|Al1,

16. Solve the system of linear equation 5x+ 2y = 3,3x+ 2y =5using matrix inversion methods.
17. Solve x+2y+3z=0, 3x+4y+4z=0, 7x+10y+12z=0
IV. ANSWER ANY 3 QUESTIONS: 3X5=15

-4 4 4 1 -1 1
18. If A=|-7 1 3 |andB=|1 -2 -2]|,find the products AB and BA and Hence solve
5 -3 -1 N

X—Y+2=4,x-2y—-22=92x+y+3z=1

A family of 3 people went out for dinner in a restaurant. The cost of two dosai, three idlies and
two vadai is Rs150 .The cost of two dosai , two idlies and four vadais is Rs 200.The cost of five
dosais, four idlies and two vadais is Rs 250.The family has Rs 350 in hand and they ate 3 dosai
and six idlies and 6 vadais. Will they be able to manage to pay the bill within the amount they
had?

Test for consistency and if possible solvex—y+2z=2,2x+y+4z=7,4X—Yy+z =4by rank
method.

Investigate the value of A and p, 2x+3y+52=9,7x+3y—-52=8,2X+3y+Az=pu

(i) No solution (ii) a unique solution.(iii) infinitely many solutions.
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